ﬁm Elements & the Periodic Table

Name Class Date

0 Silicon (Si) and boron (B) are called G Circle the answer.
metalloids because they . An atom with seven valence electrons
Circle the answer. BM will only need one more electron to po_nd
a. always act as metals s- :c)c; another atom. This is a characteristic
b. always act as nonmetals |Ge|As
c. act as both metals and Smlg Te;n metals noble gases

nonmetals Po| At nonmetals neutrons

e Carbon (C) has 4 electrons in its valence e As you go from top to bottom down any

shellxHow imany. miirg electronso group in the periodic table, the number
10

does carbon need to have
a full valence shell?

Write the answer.

of valence electrons

a. increases g
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a. take 7 more electrons [f \ than K 39.098
b. give up one electron ° . d/ b. K has 8 more protons than Na
c. act as a noble gas c. Khas a smaller atomic mass
o9
e i @ Some atomic mass numbers 1
What happens to _the atomic numbel_' as you are not whole numbers because H
read frc?m !eft to right across any period in some atoms have _ 1.0079
the periodic table? 3
. a. different numbers of LI
a. increases electrons LI

b. decreases
c. remains the same

b. neutrons missing matter

c. many isotopes with different masses
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Name Class

Silicon (Si) and boron (B) are called
metalloids because they

Circle the answer. g
a. always act as metals si
b. always act as nonmetals |Ge|As
@ act as both metals and sb|Te
nonmetals Po | At

& the Periodic Table - Answer Key @

Date

G Circle the answer.
An atom with seven valence electrons
will only need one more electron to bond
to another atom. This is a characteristic
of

metals noble gases

neutrons

Carbon (C) has 4 electrons in its valence
shell. How many more electrons
does carbon need to have '
a full valence shell?

e As you go from top to bottom down any

group in the periodic table, the number
10

of valence electrons

increases

a.

Write the answer.

—
—r
-

[7}]

"

< PREVIEW AET

Please Sign In or Sign Up to download
the printable version of this worksheet

uuuuuuuu

than K ’ K

a. take 7 more electrons

give up one electron

c. act as anoble gas
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K has 8 more protons than Na
c. K has a smaller atomic mass

What happens to the atomic number as you
read from left to right across any period in
the periodic table?

increases

b. decreases
C.

Some atomic mass numbers 1
are not whole numbers because H
some atoms have 1.0079

3
a. different numbers of LI
electrons

6.941

b. neutrons missing matter
@ many isotopes with different masses

© Copyright MMXVI NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to make copies for
non-commercial educational purposes only. Visit us at www.newpathworksheets.com


https://www.NewPathWorksheets.com/#login
https://www.NewPathWorksheets.com/become-a-member

